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1. Overall Description:

RAN2 thanks SA4 for the question on the preferred accuracy of the TTNB indication. 

From RAN2’s perspective, since the TTNB can be used by RAN in its scheduling and configurations related to UE power savings, the more accurate the indicated TTNB is (up to a practical limit), the more UE power can be saved
. More specifically, RAN2 recommends that the accuracy of the TTNB indication equals the shortest PDCCH skipping duration, which is one slot

. If this level of accuracy is not feasible with SA4, then the accuracy that is practical to support from SA4 


is acceptable to RAN2.
2. Actions:

To SA4:
ACTION: RAN2 kindly asks SA4 to take the above information into account.
3. Date of Next RAN2 Meetings:

RAN2#131
25th August – 29th August 2025

Bangalore, India

RAN2#131bis
13th October – 17rd October 2025

Prague, Czech
�The benefits are not just about UE power saving, but also timely scheduling etc. So I think the sentence can be generalized as:


“...the more benefits can be achieved.”


�Suggest to specify in ‘ms’ unit, since SA4 is not aware of ‘one slot.’ For example, this part can be changed as “which is 0.125ms (i.e., one slot for 120 kHz SCS)” 


�Agree with LGE.


�To simplify the sentence, we think “can support” is enough.


�Can support is too demaniding in our view, since it can imply that SA4 should do all in their power to increase the accuracy while this may not be useful (as indicated online that this high level of accuracy is questionable).


�As mentioned online, since companies expressed concern with the one slot being unnecessary accurate, it should be taken into account. Very high accuracy is not needed if it comes with many drawbacks, thus this should be indicated in the response.





